Intro to college math: Chapter 7.1
Simplifying Rational Expressions

* Rational expression — any expression that can be put in form -(% , Where Q is # 0.

* Simplifying a rational expression — to simplify a rational expression, first factor the numerator and
denominator completely and the divide both the numerator and denominator by any factors they have in
common.
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2. Reduce the rational expression to lowest terms. If it is already in lowest terms, enter the expression in the

answer box.
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3. Reduce the rational expression to lowest terms. If it is already in lowest terms, enter the expression in the
answer box. 2.39
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4. Reduce the rational expression to lowest terms. If it is already in lowest terms, enter the expression in the
answer box. 5q_ -3
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5. Simplify the following expression completely. q k -5
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5. Reduce the rational expression to lowest terms. If it is already in lowest terms, enter the expression in the
answer box. 3‘5_ 9
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6. Simplify the expression. X9 + lIOx +3Y4
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7. Simplify the expression. 22 - ?)Z, -10
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